1 EERE
()

E%a3+b3=(a+b)(a?—ab+bz}=2

B #—ab+b>0,Frllatb>0

% =ath,

= ;t{;zr{(a+b)2 —3abl=rlP—3a(r-a)]

~r[r 3ar+?>az]—r[3(a2 ar+——~}+—-——]

3 g L A0
Ef 8=r

#H2=r=(atbh)

(#—)

A= —b=(2—-by+3 2p—3 « 2 ¢ 2+ BP—6
=2~ by —6(p*—2b+1) |
—@-by—6(b—17=2-b)

Ela=(2-b).ERE a.beR

HEha<2-b

HiE g+b<2.



s EERE

(1)

[ R

j\ 12 1

To 3 0
Q) SR HEERE S FIE T ANEEEHERERIIRE.
L =FHFRIT RS " '

X, %2, % ,ITUM{TE’J%U%%JE v, e,y Bl [ x-n | EE—FIE—TTPIRVEL
EREEANNEECHE Tt tn=n Ty Vs,

EHEE

bty = =yt — s = abu —yal+b bes— sl

= abs{-1,1}. Za=5b=-1818 lx—-n|>0

= -;\:1’“}’1 =x—1: = %=1 =0.

R EE RIS o 5 b TERER -1,

1] ber—w| = o=l = sl Bl —w] = lxe—yal— b —sl]

SE ko RS FIS T ETBLT k) RESFIE S AR

SEOFTRL





